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Q1 Identify the odd pair from the following.
Ans 1. Taj Mahal : Agra
v 2 Konark : Odisha

& 3. Victoria memorial : Kolkata
& 4. India Gate : New Delhi
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| Chosen Option : 3 ’

Q.2
The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:

Some monkeys are donkeys.
All donkeys are lions.

Conclusion:

1.  All lions are donkeys.
Ta et ) 5
Ans ?(1}1- Both conclusions follow.

2. Only conclusion II follows.
3. Only conclusion I follows.

+ 4 Neither conclusion I nor conclusion II follows.
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Chosen Option : 3
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Question ID : 9895806505
Chosen Option : 1

Q4 ‘Horse’ is related to ‘Foal’ in the same way as ‘Man’ is related to 7
Ans 1 Family

X 2. Student

v 5. Child

< 4. Women

Question ID : 9895806486
Chosen Option : 1

9% Select the term that will come next in the following series.

aCCe, fHHj. kMMo,
Ans X 1. qRRt

< 2. qSSt

v pRRt

X 4. pQQr

Question ID : 9895806481
Chosen Option : 3

Q6 Identify the odd one from the following.
ans X1 U

X2l

vz

X4 E

Question ID : 9895806483
Chosen Option : 1

Q7 Ry oo THEIT B TE T F AT e @ Rt # AT F g aem

0+15+15 - 10 x 10 = -99

Ans 1.+3_ﬁ_{.x

Question ID : 9895806498




| Chosen Option : 1 I

Q8 Identify the decimal number that will come next in the following series.

20,19.9, 19.89, 19.889, 19.8889,
Ans of 1.19.88889
< 2.19.88888
< 3.19.98889
X 4.19.88999

Question ID : 9895806494
Chosen Option : 1

99 Select the correct option to complete the following pattern.

QO
O

Ans

X 2

X s O

F

Question ID : 9895806502
Chosen Option : 4

Question ID : 9895806482
Chosen Option : 1

91 If OFFICE is coded as PHIMHK, then COLLEGE will be codedas
Ans X 1 DQOOIML

X 2. DQOPINL

X 3 DQPPIML

v 4 DQOPIML




Question ID : 9895806488

Chosen Option : 2
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Ans o 1400
X2 326
< 3. 256
X 4. 350

Question ID : 9895806496

Chosen Option : 1

Q:’;1 Select the option that most closely resembles the mirror image of the given figure.

Ans

X 3

F

SYoln. W

Question ID : 9895806503

Chosen Option : 2

Q.1 Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the
4 statements.

Statements:

All girls are students.
All students are sisters.

Conclusions:

1. All girls are sisters.
II.  Some girls are not sisters.

Ans X 1. Neither conclusion I nor conclusion II follows.
< 2. Both conclusions I and II follow.
3. Only conclusion II follows.

4. Only conclusion I follows.

Question ID : 9895806492




| Chosen Option : 4 I

Qél If PROFIT is coded as 17-19-16-7-10-21, then how will COMPANY be coded as?

Ans X' 1. 3-16-14-17-2-15-25
v 2 4-16-14-17-2-15-26
X 3. 3-15-13-16-1-14-25
X 4. 4-15-13-17-2-15-26

Question ID : 9895806487

Chosen Option : 2

Q1 Sarath, Naveen, Deepak and Vikram are sitting around a round table and discussing their trades. Sarath sits opposite to
the engineer. Naveen sits to the right of the doctor. The lawyer is to the left of the police.
Vikram sits opposite to Deepak.

‘Who is the engineer?

Ans 1. Deepak
< 2. Sarath
< 3. Vikram
v 4 Naveen

Question ID : 9895806490

Chosen Option : 1

Ql a pharmaceutical company launches eight new medicines — A, B, C, D. E, F. G and H. The medicines were launched
7 one after the other over a period of 3 months in 2015. The order in which the medicines were launched followed the
given conditions:
A got launched immediately after H;
E got launched before both G and A;
C got launched immediately after E;
D got launched before E but after B; and
B got launched immediately before F.
‘Which of the following could be true?

Ans - X' 1. G was the second medicine to be launched.
/& 2. B was the third medicine to be launched.
< 3. A was the fourth medicine to be launched.
v . C was the fifth medicine to be launched.

Question ID : 9895806491

Chosen Option : 1

Q.1 Five friends are sitting in a row. Sathya is sitting next to Prabha but not to Dhivya. Keerthi is sitting next to Roja who is
8  sitting on the extreme left and Dhivya is not sitting next to Keerthi. Who is sitting in the middle?

Ans - X 1. Keerthi
2. Sathya

3. Dhivya
/< 4. Prabha

Question ID : 9895806489

Chosen Option : 1

Ql a square transparent sheet with a pattern is given. Select from among the four alternatives how the pattern would appear
9 when the transparent sheet is folded at the dotted line.

Ans




F 0

X 2

vz

Question ID : 9895806504
Chosen Option : 4

de Select the figure that will come next in the following series.

® e o>/ \J
Ans
.
x 1 o+>
-
®
v X
9,
./
X~ 3. X
L
X a ’,A‘I'!-'
Question ID : 9895806500
Chosen Option : 2
Q.2




Identify the number that DOES NOT belong to the following series.

0,7,26,2,9,27,4,11,30
Ans xl- 7

X2 26

X309

v 27

Question ID : 9895806495
Chosen Option : 1

Q.2 mthe following number series, two numbers have been put within brackets. Study the series carefully and select the
2 correct alternative with respect to the series.

2,5, 10, 17, (26), 37, 50, 65, (81), 101
Ans - X 1. Both the bracketed numbers are correct.

< 2. Both the bracketed numbers are incorrect.

g

The first bracketed number (from the left) is incorrect and the second is correct.

(4.

The first bracketed number (from the left) is correct and the second is incorrect.

Question ID : 9895806499
Chosen Option : 4

Qéz Select the option in which the given figure is embedded.

Ans

X 2

4

v

Question ID : 9895806501
Chosen Option : 4




Qf Identify the odd number from the following.

Ans of 1167
X 2. 256
< 3196
X 4 225

Question ID : 9895806497
Chosen Option : 1

Q-2 Select the option that is related to the third term in the same way as the second term is related to the first term.

Abundant : Scarce : : Arrival : ?

Ans o 1 Departure

< 2. Stop
X 3. Reach
X 4 Come

Question ID : 9895806485
Chosen Option : 1

Qg,z From when did GST come into effect in India?
Ans 1 ond October 2015
2. 15™ August 2014

3. gth November 2016
4. 1% July 2017

Question ID : 9895806539
Chosen Option : 1

Q7'2 When was the Fugitive Economic Offenders Act passed by the Indian parliament?

Ans - X1 2016
X 22012
v s 2018
& 42014

Question ID : 9895806543
Chosen Option : 4

Q.2 The Minimum Support Price (MSP) is announced by the Government of India for how many crops?

8

Ans X120
~< 2 30
v 3 25
X4 15

Question ID : 9895806541
Chosen Option : 3

%% In which city was the Indian National Congress founded?

Ans




v Bombay

& 2. Madras
3. Rajkot

& 4 Calcutta

Question ID : 9895806555
Chosen Option : 2

Q.3 Identify the industrialist who is the founder of the natural resources company called Vedanta Resources.
0

Ans 1. Shankar Uday
2. Anil Agarwal
& 3. Vishal Sikka
4. Kuldeep Agarwal

Question ID : 9895806538
Chosen Option : 4

Ql's In which country is the ‘Great man made river’ located?
Ans 1. Ethiopia
2. Libya
X 3. Egypt
/< 4. Kenya

Question ID : 9895806550
Chosen Option : 4

Q2'3 Who patented the FM radio?
Ans 1. Edwin H. Armstrong
< 2. John Logie Baird

& 3. Thomas Alva Edison
& 4. Nicola Tesla

Question ID : 9895806545
Chosen Option : 4

Qé3 The first ever Philip Kotler Presidential Award went to which of the following world leaders?
Ans  of 1. Narendra Modi

2. Donald Trump
/X 3. Teresa May

4. Angela Merkel

Question ID : 9895806536
Chosen Option : 4

Qf Into how many ‘mandalas’ or books is the Rig Veda divided?

Ans 1.




X2
X35
v 110

Question ID : 9895806553
Chosen Option : 2

Qés ‘Insuknawr’, a traditional Indian sport, is associated with which state?
Ans 1. Nagaland
2. Meghalaya
v 5. Mizoram
4. Manipur

Question ID : 9895806534
Chosen Option : 4

Q.3 Prohibition of children under 14 years of age to work in any hazardous employment is stated in which article of the
Indian constitution?

Ans X122
X2 25
v 3 24
<423

Question ID : 9895806542
Chosen Option : 4

Q7'3 Which of the following is the national sport of Sri Lanka?
Ans - X1 Cricket
2. Volleyball
3. Hockey
& 4 Basketball

Question ID : 9895806535
Chosen Option : 4
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Question ID : 9895806548
Chosen Option : 1

Q9'3 Where is the largest drinking water reservoir in the world located?
Ans x 1.
# 2 China




X = Russia
v 4 Saudi Arabia

Question ID : 9895806549
Chosen Option : 4

Q(')4 ‘Modse’ is a traditional dance form of which of the following Indian states?
Ans - X 1. Jharkhand
2. Nagaland
# 3. Mizoram
X 4. Odisha

Question ID : 9895806531
Chosen Option : 3

Q.4 How long should a person should have practised in a High Court to be appointed as a Judge of the Supreme Court of

1 India?

Ans of 110
X215
X35
X 12

Question ID : 9895806544
Chosen Option : 1

Q2'4 In banking terminology, the term SLR stands for:
Ans 1. Subsidiary Leveraging Ratio
2. Standard Liquid Ratio
3. Statutory Liquidity Ratio
X 4. Subordinate Level Return

Question ID : 9895806540
Chosen Option : 1

Q3'4 Green Revolution was first started by which of the following nations?
ans X 1. Chile
v 2. Mexico
& 3. Brazil
4. Argentina

Question ID : 9895806552
Chosen Option : 4

%* In which Indian state is Mount Dhupgarh located?
Ans 1. Gujarat

& 2. Uttar Pradesh

' 3 Madhya Pradesh

/< 4 Rajasthan




Question ID : 9895806551
Chosen Option : 1

Q5'4 ‘Gulzar Houz’, a historical fountain, is located in which of the following Indian cities?

Ans 1. Hyderabad

X 2. Lucknow
X 3. Delhi
4. Ajmer

Question ID : 9895806533
Chosen Option : 4

Qé4 ‘Losoong’ is a festival of which of the following Indian states?
Ans X1 Goa
v 2. sikkim
3. Meghalaya
& 4. Arunachal Pradesh

Question ID : 9895806532
Chosen Option : 4

Q7'4 Which of the following was the capital of the Pallava Dynasty?

Ans - X 1. Madurai
2. Vishakhapatnam

3. Thanjavur

4. Kanchipuram

Question ID : 9895806554
Chosen Option : 4

ng Which acid is present in tomato?
Ans o 1. Oxalic acid

/< 2. Tartaric acid

& 3. Sulfenic acid

X 4. Malic acid

Question ID : 9895806546
Chosen Option : 4

Q9'4 Who is the author of the book “Why I am a Hindu’?
Ans 1. Amish Tripathi
2. Durjoy Dutta
' 5. Shashi Tharoor
4. Chetan Bhagat

Question ID : 9895806537
Chosen Option : 4




| . |
Q(')s Which of the following animals is a mammal?
Ans o 1. Whale
& 2. Tortoise
< 3. Annelids

4. Bullfrogs

Question ID : 9895806547

Chosen Option : 3

Q5 Rreer sfoer ofy o # WUROT @ X W 1800 Fr TR 10 7S F 22700 g A

Ans X 1.12%
< 2.15%
< 3 10%
v 1 5%

Question ID : 9895806595

Chosen Option : 4
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s of 1 36
<2 84
X363
X4 48

Question ID : 9895806585

Chosen Option : 1

Q5 a person travels from one place (P) to another place (Q) at a speed of 60 km/hr and return from Q by increasing his
3 speed of 50%. The average speed of person is:

Ans X 1. 62 kiv/hr
< 2. 75 km/hr
< 3. 74 kmvhr
v 4 72 km/hr

Question ID : 9895806589

Chosen Option : 2

Q.5 The base of a right prism is an equilateral triangle with a side of Sm, and its height is 20m. The volume of the prism is:

A

A1 s md
2. 120V3m?
3 120m?
4 125V3m?

Question ID : 9895806602
Chosen Option : 4

|
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The value of 54 — 2(20+ 12 ~4 X3 —2 X 2)+ 10 is equal to:
Ans X112

X2 24

v 14

X4 4

Question ID : 9895806582

Chosen Option : 3

QéS The least number when divided by 27, 45, 30 leaves the remainder 5 in each case is:

Ans X1 308
X 2102
X 3. 260
Vv 275

Question ID : 9895806581

Chosen Option : 2

Q7-5 Study the Table Properly and answer by interpreting the data:

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students | Maths | Chemistry | Physics Biology
(150) (130) (120) (100)
Harish 90 50 60 70
Raman 80 30 60 65
Rajesh 70 60 80 82
Manoj 35 75 20 72
Azmat 40 35 38 48

The number of students who obtained 50% and above marks in all subject is:

ans of 1.2
X2 3
PR
X4 4

Question ID : 9895806604

Chosen Option : 1

Q8-5 Study the Table Properly and answer by interpreting the data

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students | Maths | Chemistry | Physics Biology
(150) (130) (120) (100)

Harish 90 50 60 70

Raman 80 30 60 65

Rajesh 70 60 80 82

Manoj 35 75 20 72

Azmat 40 39 38 48

What is the average marks obtained by all five students in Chemistry?
Ans x 1. 70

V2 65
X 3. 85
X4 75

Question ID : 9895806603
Chosen Option : 2




Q.5 The ratio of two numbers is 8 : 3 and their difference is 120. The smallest of the two number is:
9

Ans X1 162
X 2. 65
X3 84
v 72

Question ID : 9895806592
Chosen Option : 4

%° The value of 5 + [(28 — 4) + 22 4 2)] — 2 is equal to:
Ans X1 5§

Vo7
X36
X4 4

Question ID : 9895806583
Chosen Option : 2

Q1-6 A shirt is marked 2500 is available for ¥2200. The rate of discount percentage offered as:

Ans X 1. 10%
X 2. 25%
V'3 12%
X 4 15%

Question ID : 9895806599
Chosen Option : 3

Q2-5 If 20% of certain number is equal to 3/4t of another number, what is the ratio between the numbers?

Ans XK1 4:3
X2 4:6
V3 15:4
K a43:4

Question ID : 9895806594
Chosen Option : 4

Q3'6 The time taken to cover a distance 150 km by a train moving at 40 knvh is:

Ans  of 1 3 hrs 45 minutes
< 2.3 hrs 35 minutes

& 3.2 hrs 35 minutes
< 4. 2 hrs 45 minutes

Question ID : 9895806588
Chosen Option : 1
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Ans 1.




Question ID : 9895806596
Chosen Option : 3

Qée The relationship between mean, median and mode in the central tendency is:

Ans - X' 1. Mode = 3 median + 2 mean
v 2. Mode = 3 median — 2 mean
< 3. Median = 3 mode — 2 mean
& 4. Median = 3 mode + 2 mean

Question ID : 9895806590

Chosen Option : 1

Qs-e Study the Table Properly and answer by interpreting the data

The table gives the percentage of marks obtained by five students in four different subjects in an examination.

Subjects (Max. Marks)
students | Maths | Chemistry | Physics Biology
(150) (130) (120) (100)
Harish 90 50 60 70
Raman 80 30 60 65
Rajesh 70 60 80 82
Manoj 35 75 20 72
Azmat 40 35 38 48

How many students secured below 50% marks in each of the subject is:

Ans of 1|
X202
X33

X4

Question ID : 9895806605

Chosen Option : 1

Q.6 The cost price of 15 articles is equal to the selling price of 12 articles. The Profit or Loss percent of the article is:
7

Ans 1. 20% profit
X 2. 25% loss

3. 25% profit
X 4. 20% loss

Question ID : 9895806597

Chosen Option : 1

Q.6 The ratio between the selling price and cost price of an article is 7 : 3, What will be the ratio between the profit and
8  selling price of the article?

Ans X1 7:4
K25:2
X37:3
v 4.7

Question ID : 9895806593




| Chosen Option : 2 I

Q.6 Rahim and Harish can do a work in 15 days and 10 days respectively. In how many days the same work will be finished
9  if they work together?

Ans (1_ 6
X 2 30
K3 25
Xas

Question ID : 9895806586
Chosen Option : 1

Q67 gier gEamsit & siEa 120 ¥ IfE ve gEur @ srenT fhar =T, ar Aw SR et @ sitaa 130 #

3T #Y IS HEAT §:

Ans ( 1 80

<2110

<3 75

< 4120

Question ID : 9895806584
Chosen Option : 1

Q.7

1 ARITHMETIC 2reg &, | 318X & g T gfaerd Far g2
Ans X1 10%
v 2 20%
< 3 15%
X 4 25%

Question ID : 9895806591
Chosen Option : 2

Q2'7 How many cubes of 5 cm edge can be placed in a cubic box of 2m edge?

Ans of 1. 64000
& 2. 10000
& 35000
& 4. 46000

Question ID : 9895806600
Chosen Option : 3

Q:; If 6 persons reap 36 acres in 24 days, how many acres will 12 persons reap in 18 days?

Ans X115
K2 28
v 24
X4 35
Question ID : 9895806587
Chosen Option : 3
Q.7




Ans X 1. 30% loss
X 2. 20% loss
3. 25% profit

4. 15 % profit

Question ID : 9895806598

Chosen Option : 3

Q.7 The area of two equilateral triangles is 36 : 64. The altitudes of the triangles will be in the ratio of:

5

Ans X' 1.8:6
X 2 36:64
X3 64:36

v:6:8

Question ID : 9895806601
Chosen Option : 4

Section : English Language

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

Gazing out of the train window as I travelled upon the country, I was introduced to a new India.

Ans - X 1. 3 new India
& 2. introduced to
3. upon the

4. Gazing out

Question ID : 9895806154
Chosen Option : 2

Q2 Select the most appropriate option to fill in the blank.

There is nothing that of us can do to solve the problem.
Ans X 1. every one
v 2 any
X 3. none
& 4. no one

Question ID : 9895806160
Chosen Option : 2

Q3 Select the correctly spelt word.
Ans - X 1. Permision

< 2. Parmission

< 3. Permmission

v 4 Permission

Question ID : 9895806179
Chosen Option : 4

-




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild. males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 4

94 Select the most appropriate option that will fill in
the blank number 1.

Ans X 1. cage
< 2. forest
3. captivity

/X 4. caves

Question ID : 9895806163
Chosen Option : 4

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Comprehension:

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 5

O° Select the most appropriate option that will fill in
the blank number 2.

Ans X' 1. loss
/< 2. harm
3. damage

4. injuries

Question ID : 9895806164
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild. males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 6

Q6 Select the most appropriate option that will fill in
the blank number 3.

Ans x 1 grow
#< 2 nurture
v 3 inhabit
< 4 breed

Question ID : 9895806165
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild, males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in
the blank number 4.

Ans X 1 flock
o' 2 pride
/< 3 bunch
< 4 pack

Question ID : 9895806166
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Lions live for around 10-14 years in the wild, while in (1) they
can live over 20 years. In the wild. males seldom live longer than ten
years as fights with rivals occasionally cause them (2) . They
typically (3) Savanna and grassland, although they may take
to bush and forest. A (4) of lions consists of related females
and offspring and some adult males. Groups of female lions typically
hunt together (5) mostly on large hoofed animals.

SubQuestion No : 8

9% Select the most appropriate option that will fill in
the blank number 5.

Ans 1. preying
2. snatching
3. consuming

4. eating

Question ID : 9895806167
Chosen Option : 4

9 Select the antonym of the given word.

PAUCITY
Ans 1. Surplus

X 2. Lack
3. Flexibility

4. Shortage

Question ID : 9895806171
Chosen Option : 3

Q(',l Select the option that means the same as the given idiom.

To be in hot water
Ans 1. To be depended on

# 2. To be unreliable
3. To be praised

& 4. To be in trouble

Question ID : 9895806172
Chosen Option : 3

Qil From the given options, identify the segment in the sentence which contains the grammatical etror.

The football team had won the series abroad after a decade and brings home the trophy.

Ans - X 1. won the series
X 2. adecade

< 3 abroad after




v 4 and brings

Question ID : 9895806156

Chosen Option : 2

Qz'l Select the most appropriate synonym of the given word.

FUTILE
Ans 1. B ormg

v 2. Useless
3. Uninteresting

4. Juicy

Question ID : 9895806168

Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

Evolution is the gradual change over the physical and mental make up of species.
Ans 1. on the physical and mental make-up of species

N

. from the physical and mental make-up of species

3. No improvement

IS

- in the physical and mental make-up of species

Question ID : 9895806159

Chosen Option : 1

Qf Select the most appropriate option to fill in the blank.

In my opinion. heisthe  of all the brothers.
. brightly

. brightest

. bright

. brighter

Ans

[N

N

w

~

Question ID : 9895806161

Chosen Option : 2

Qs'l Select the antonym of the given word.

GORGEOUS
Ans X 1. Decorative

X 2. Beautiful
/< 3. Smart
4. Ordinary

Question ID : 9895806170
Chosen Option : 4




Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
6 substitute it, select No improvement.

He searched for his files across the chest of drawers.

Ans 1. No improvement
X 2. above the chest of drawers

v 3. in the chest of drawers
& 4. into the chest of drawers

Question ID : 9895806157

Chosen Option : 2

Q.1 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
7 substitute it, select No improvement.

He do not register his dissent to the proposal put forward by the member.

Ans 1. No improvement

N

. did not registered his dissent to

w

. does not registered his dissent to

IN

- did not register his dissent to

Question ID : 9895806158

Chosen Option : 4

Qél Select the word which means the same as the group of words given.

A collection of poems
Ans 1. Rhyme
< 2. Verse
X 3. Stanza
4. Anthology

Question ID : 9895806174

Chosen Option : 2

Qg,l Select the option that means the same as the given idiom.

Fair weather friends

Ans . Friends who are always happy

=

N

. Friends who keep you happy

w

. Friends in good times

~

. Good company for holidays

Question ID : 9895806173

Chosen Option : 3

Q(')z Select the most appropriate word to fill in the blank.

I read ‘Harry Potter’ books because they were by my friend.

A
ns L counselled

X 2 advised




Vs recommended
& 4 motivated

Question ID : 9895806176

Chosen Option : 4

Q1'2 Select the most appropriate word to fill in the blank.

In what ways has progress in human knowledge  our environment?
Ans 1. aligned
2. represented
v . altered
X 4. reframed

Question ID : 9895806177

Chosen Option : 2

Q2-2 From the given options, identify the segment in the sentence which contains the grammatical etror.
The department will initiate a campaign to promoting organic farming across the State.
Ans X1 across the State
2. organic farming
& 3. will initiate

4. to promoting

Question ID : 9895806155

Chosen Option : 2

Q3'2 Select the correctly spelt word.
Ans X 1. Comamorate

& 2. Comemorate

< 3. Commamorate

v 4. Commemorate

Question ID : 9895806178

Chosen Option : 3

Qf Select the most appropriate synonym of the given word.

MANDATORY
Ans 1. Elementary
& 2 Lucid

X 3. Advanced
4. Compulsory

Question ID : 9895806169
Chosen Option : 4

Q.2




Select the word which means the same as the group of words given.

Country treated as permanent home by an individual
Ans - X 1. Residence

v 2 Domicile

/< 3. Dwelling

/< 4. Neighbourhood

Question ID : 9895806175
Chosen Option : 1

Section : Hindi Language

Ql R 1w are # @ifha @5 & sfarafa = & v svgea RweT &1 99a

Rt 7 Rt & Agea #

AL RISt & FeeeT B
2. fafat & #geT 2
s it #r FgeeT B
o ffEt & Ageea B

Question ID : 9895805950
Chosen Option : --

°? FEY I Ty U F TS FY
Ans X 1. TP

X 2. gEeRT

v 2 gFeT

< 4 TR

Question ID : 9895805970
Chosen Option : --

T TN T o T TS HY
Ans X1 TS

X 2. TOETT

X 3. T

Vo TIET

Question ID : 9895805971
Chosen Option : --

¥ R i Ay % T T e gET

TeT I§ arerm
Ans XL meaa

X 2 g




V' gerd
4. gerfrer

Question ID : 9895805968
Chosen Option : --

*® R reg @ A I
Haar
ans X1 T
X2 T§ TE
s. g@iar
v 1 \eT

Question ID : 9895805962
Chosen Option : --

Q'Gﬁvmmwagﬂmmﬁmﬁaﬂégﬁ%l

a:ﬁaﬁra%emgtrmaéﬁuwalgmmg’rm%l
L
2 FAT T Ty
3. H=0 91
4. fPreraT FiST & T gl

Question ID : 9895805948
Chosen Option : --

7 fw T e ¥ qotEET o @ 9Ue FY

Question ID : 9895805965
Chosen Option : --

Q'B%cmmﬁwmaﬂqﬁwﬁamﬁ#ﬁvmﬁwmmﬁl

TS AR 9 9g W § 3 gt o gem aw w ¥
DK e o T AR @ R
X2 gér S I = W@ 2

An




v o g S I W W
4. EIEY S G H G A

Question ID : 9895805949
Chosen Option : --
Q.9 3
ﬁmmﬁmﬁmmﬁammmwl

gH THA |
Ans 1 m

Question ID : 9895805953
Chosen Option : --
Comprehension:

fefof@a ez & Rea wuet & i ae@ner & = e o
gedl & HFAR HST -

IS & TaT A & AT g A H JeeAled 1 YR AT 31 H
& AT ST g1 st A s (1) g aFgadr & &
T o off qYemel 7 WIHAT IR Thd g1 T S fr AT T
3HeTeT (2) A< &1 g T F W TAT FT A A H
(3) B g1 A FEr W H A § F gl qev RF-
Sfafest (4) Bl I @ &1 Reqg F$ FROT X g F
TR HEpIA # THIE TF YA EA-Heged $T RO 3cee
& T &, SEF FRoT 7 39w AfAw (5) & yagelaT
A T
SubQuestion No : 10
% are@ier # T Rea T (1) F R swEa
oree; g -
Ans X1 greT
> enfa
X 3 HIgH
4.!'%'2?"

Question ID : 9895805957
Chosen Option : --

Comprehension:




feafaf@a @ & Rea wm=t & oft @ & = e o
Tedl & IFFAR HAT -

IS F AT Fol & AT gl JU I Sedicd 1 IR Jar 1 H
& AT ST g1 At H s (1) g T g & &
T o off g T WHAT FT Hhd g1 S S B AT Th
3erT (2) @ ¥ T T F W THT FO FA FA FH
(3) grar &1 3 ST W #r & ¥ F g d ¥ R=-
sfafeet (4) Bl ST T ¥1 g S HROT ¥ st
TR BEPTA HT TE UF I @A-HegeT S gROT 3ot
2 &, e FRoT 3 v Afew (5) Fr @ge=T
F o g
SubQuestion No : 11
Y aregier # wHfaE Rew T (2) F B swEe
re g -
SRt
X 2 388
3. ofar
4 formar

Question ID : 9895805958
Chosen Option : --
Comprehension:

ferafaf@a s & Rea s & qfd @@ & @9 e o
gedl & HFAR HST -

S & JaT o & Afasay g1 A F Ie=ATT F AR Jar T H
& AT ST g1 st A s (1) o afaa @ g &
T fFer off qLAEl FT THAT I TR g1 SA% S T JIA Th
3T (2) @ ¥ T T F W THT FO FA A FH
_ (3) g g W ST ®E B & ¢ F gt dew -
gfafes (4) @ ST @ g1 e F3 FRON § Fat A
TR BEPIT T THIE T AR EA-HEA HT UROT IeTeed
TR IR I ARE _ (5) @ @
A T
SubQuestion No : 12

% eI H Tertad NaFa T (3) & fw sugsa
g BT -

Ans X1 BT
v 2 3T




X?,.g;r
X 4 FYaAT

Question ID : 9895805959
Chosen Option : --

Comprehension:

ferafaf@a s & Rea T # qfd ae@ner & J= e o
Tedl & FFARX HAT -

S & JaT o & Al g1 A F IeATT F AR ar T H
AN E@ AT (1) aFT @ g B
T o off 9yl & WIHAT 3 T g1 S S T I T
3T (2) B ¥ T T F W TAT FT AW WA H
(3) BIam &1 3T FET T HT A ¢ T gE Jaw ReH-
gfafem _ (4) @ 1 W@ ¥l Weqg F§ FROT F A A
IR HEpIA # THIT TS YA EA-Hee $H UROT 3o
2 @ g, SuF FRoT T 39w AfRE (5) & agAAT
F T
SubQuestion No : 13
% T H Fehlad NaFd T (4) & forw sugea
eSS BT -
Ans X 1 AT
v 2 g
X2 gk
X4 FEAT

Question ID : 9895805960
Chosen Option : --

Comprehension:

ferafaf@a seamr & Rea T # qfd @@ & & e o
Tedl & FFARX HAT -

IS & JaT o & ATy g1 A F IewATT H AR ar T H
& AT ST g1 ganst A s () g o & &
T R off gyl & WHAT 3 T g1 S0 S T HIAT T
3T (2) @ ¥ T T F W TAT FT AW WA
(3) Brar &1 NS Fdr TS Fr &7 ¢ & gl qar eH-
gfafes (4) @ ST W § Weg F$ FROT F gant A
IR HEpIA # IHIT TS YA EA-Heed $H UROT 3o
2 @ g, SuF FRoT T 3w AfaE (5) #r agAT
A o




SubQuestion No : 14
% e H Tentad NaFd T (5) & fow sugsa
g BT -
AL freat
2. 3T
s Hear

o

Question ID : 9895805961
Chosen Option : --

% R v wer ¥ qoTETE oRE @ 9Ue #Y

EET]

Ans 1. Qs‘a,
X 2 grad
VR -

4. ST
L

Question ID : 9895805964
Chosen Option : --

Q1 oo # @ 50 fmed o1 Taw Tt S W S T TEA TR A T el B
Ans
v 1 3T @agr HGI
> FHT § FW 99 @A

3. THATT H 33T
X 4 FHTAT FIAT

Question ID : 9895805967
Chosen Option : --

Qilﬁvmalamrﬁ'sﬂwgﬁl

AnS L AR

Question ID : 9895805963
Chosen Option : --
Q.1 5
s f&& I ey & fov T g giaw)
§ga AT T arem




Ans (1. i
X 2. YeqaHAT
X 3. AT

Question ID : 9895805969
Chosen Option : --

Y Rea T o F R s9gE o 99T H

Rffwmas & &
ANS g gf
2 eI
FaSERR- g
/< 4 €T

Question ID : 9895805955
Chosen Option : --

% faa T e F R s9Ee w99
3= aToT T &l

Ans 1.
2.

3.

4.

Question ID : 9895805954
Chosen Option : --

Q2 frafaftm # & 3w R &1 9w &Y S S SR o & e e v o caw e ¥

e g g
2 O YhR T e g ameT
3. Zarforar =mear

- Zarforat o 7 sreeR daar

N

Question ID : 9895805966
Chosen Option : --

Qézﬁvmmmagmmﬁﬁmﬁaﬂégﬁ%l

TRET 7T AT FT F9T FFAT o T d35 T
Ans X1 FeET oft

X 2 78 = &




X 3. FATR & FI
4 T I

Question ID : 9895805947
Chosen Option : --

Q3-2 T v aw # wifea @ & sfaraia & & v s9gea BFer #1 aaa #1

T A a7 § W & 93 3k o @ 2
L S & 93 3R v
2 30 & 93 3R wa
3 39T & 9% AR wer
4. 33T &Y 9% AR wer

Question ID : 9895805951
Chosen Option : --

—
% Roa T @ R & R 39gEd e # 9T F

I HTIATL Fr g1 T
Ans 1 .sn.a.

Question ID : 9895805952
Chosen Option : --

—
Y R v A F A 4ET W S e B IR Y

e age 3UFOT F HAF THR F FHEAT 39T FT &7 21
AL e aTEes 39T &
2. 3c9esT T & 2
3. A% THR
4 @ FHETT

Question ID : 9895805946
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :

Registration No.

Name :

Exam Venue : Tara Online Web Controller
Exam Time : 4:00 PM - 5:30 PM

Exam Date : 22/02/2019

Section : General Section

Q1 Identify the odd pair from the following.

Ans o' 1. Tuberculosis : Heart
& 2. Jaundice : Liver
/< 3. Rickets : Bones
4. Night Blindness : Eyes

\gucmiun 1D . J0J00UL0OUI
| Chosen Option : 2 ’

Q.2
Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the
statements.

Statements:
Some animals are birds.
Cow is an animal.

Conclusions:
1. Some birds are animals.

Ans TCVE! Néifher conclusion I nor conclusion II follows.
& 2. Both conclusions I and II follow.
3. Only conclusion I follows.

4. Only conclusion II follows.

Qucaliuu 1. JO0JOOUOO LY
| Chosen Option : 4 |

Q3
Identify the option that belongs to the following group.

Lamb. Calf Tadnole
Ans 1. Amphibians

v 2. Puppy
/< 3. Wild animals
4. Reptiles
\JUUDLiUII iD . vOUSOUUSll
| Chosen Option : 1 |

Q.4
Four persons (two men and two women) were sitting in a restaurant. They were each seated at the north, east, south and
west of a table. No woman was facing the east. Persons sitting opposite to each other were not of the same gender. One
man was facing the south. Which directions were the women facing?




Ans \f . North and west
& 2. South and west

X 3. East and west
& 4. North and south

Question ID : 9895806516

Chosen Option : 4

Q5 If MARKET is coded as NCUOIJZ, then RESPECT will be coded as .

Ans X 1. SGVTIJA
X 2. SGVTIZ
X 3. SGVTIIZ
v . SGVTIIA

Question ID : 9895806513

Chosen Option : 3

Q6 A square transparent paper after folding looks like as shown in the figure by solid lines. How will it look when
unfolded? (Rotation is not allowed)

Ans

52

X 3

v

Question ID : 9895806529

Chosen Option : 3

Q7 Identify the odd one from the following.

Ans X 1. Brother
< 2. Sister
& 3. Uncle
v 4 Friend

Question ID : 9895806507

Chosen Option : 4

Q.8 Select the option that is related to the third number in the same way as the second number is related to the first number.

LL 20055
Ans 1.




X 225
X 3 255
X4 125

Question ID : 9895806521
Chosen Option : 2

29 Select the option in which the given figure is embedded.

Ans

VAN

Question ID : 9895806526
Chosen Option : 3

Q(',l Select the number that DOES NOT belong to the following group.

¥,.1,0.5, 3,75, 22.5, 78.75,:310

Ans X1 22.5
v'2 310
X 3. 78.75
X415
Question ID : 9895806520
Chosen Option : 3
Q.1




In the given Venn diagram, the rectangle represents students, the triangle represents teachers and the circle represents
players. Study the diagram carefully and answer the question that follows.
How many students are players but not teachers?

WO

32

Ans of 1 4
K26
X3 8
Xa7

Question ID : 9895806530
Chosen Option : 1

Q.1 Thereis only one dictionary in a library which will be used by 6 students P. Q, R, S, T and U, one by one. S will use it
2 immediately after Q and before P. T will use it immediately after R and before U. Q will use the dictionary after U. Who

will use the dictionary in the end?

Ans X' 1§
X2U
<3Q
v P

Question ID : 9895806515

Chosen Option : 4

Q3'1 Identify the number pair that is different from the rest.

Ans X1 45-5
< 218-2
Vs 72-9
& 4.90-10

Question ID : 9895806522

Chosen Option : 4

Q"ll Select the option that most closely resembles the mirror image of the given word.

TWIN
Ans of 1 IITWT

X 2. NIMT
X 3. NIWT
X 4 TWIN

Question ID : 9895806528
Chosen Option : 3

%' IfD=3,G=6, and OWL = 47, then FLOWER =

Ans X 1. 89
K271
Vs 73

X 48




Question ID : 9895806512
‘ Chosen Option : 4 I
A1 P . : 3 S
QG Identify the number that will come in the following series.

2500, 2400, 2200, 1900, 1500,
Ans of 11000

< 2. 900

X 3 1110

X 4. 1100

Question ID : 9895806519
Chosen Option : 1

%! Select the correct option to complete the following pattern.

A~

Ans
F 0
Z
<2
W 3
X a4
N

Question ID : 9895806527
Chosen Option : 2

Qél Select the term that will come next in the following series.

Z2A,X4D, V6G, TST,RIOM,
Ats X 1 QI2Q
X 2. QI2P
X 3. P12Q
v i P12P

Question ID : 9895806506
Chosen Option : 3

Qg'l Select the option that is analogous to the given pair.

Nation : President
Ans 1.




X 2. State : Chief Minister
\f 3. State : Governor
4. State : Chief Secretary

Question ID : 9895806510

Chosen Option : 3

de Which two signs need to be interchanged to make the given equation correct?

SX5+5-5+5=5
Ans of 1 % and —

&< 2 4 and X

K3 4+ and-—

X4 + and—

Question ID : 9895806523

Chosen Option : 3

Q.2 six friends P, Q.R, S, T and U are watching a cricket match sitting in a stadium. P is sitting at one extreme end. T is
1 sitting between P and U. R is sitting to the immediate left of U and immediate right of Q. Who is sitting at the extreme
right end?

Ans X' 1. §
X2Q
VP
X4 R

Question ID : 9895806514

Chosen Option : 3

Q.2 Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the
2 statements.

Statements:

The national norm is 150 beds per thousand population, but in this state, 200 beds per thousand are available in the
hospitals.

Conclusions:

1. The state’s norm is appropriate.

1I. The state’s health system is taking adequate care in this regard.

Ans - X 1. Neither conclusion I nor conclusion II follows.
2. Only conclusion I follows.

3. Only conclusion II follows.

& 4. Both conclusions I and II follow.

Question ID : 9895806518
Chosen Option : 4

Q.2 1 the following number series, two numbers have been put within brackets. Study the series carefully and select the
3 correct alternative with respect to the series.

0,1,4,9,(15), 25, 36, 49, (64), 81
Ans - X 1. Both the bracketed numbers are incorrect.
& 2. Both the bracketed numbers are correct.

v

The first bracketed number (from the left) is incorrect and the second is correct.

}(4.

The first bracketed number (from the left) is correct and the second is incorrect.




Question ID : 9895806524
Chosen Option : 3

%? Identify the odd one from the following.
ans (1. HL
v 2 KN
X3 CG
X1 UY

Question ID : 9895806508
Chosen Option : 2

Qg;z Select the combination that will come next in the following series.

X X0 XX | XX0 ?
Ans
X1 oxXx
v: XXX
X 3
XXX0
X a | Xox

Question ID : 9895806525
Chosen Option : 1

Qéz What was the brand name of the first electric powered washing machine?
Ans  of 1 Thor

X 2. Images

X 3. Icon

X 4. Goliath

Question ID : 9895806570
Chosen Option : 1

Q.2 When was the Aadhaar (Targeted Delivery of Financial and Other Subsidies, Benefits and Services) Act passed?

7

Ans X' 1. 2015
X 22017
V'3 2016

X< 42014




Question ID : 9895806568
Chosen Option : 1

ng What does Individual Vulnerability refer to in Economics?
Ans 1. The threat to Intellectual property

2. The threat of Exploitation

/< 3. The threat to health
4. The threat of poverty

Question ID : 9895806565

Chosen Option : 2

Q.2 1nthe WTO’s Agreement on Agriculture (AoA), what do the terms Green Box. Blue Box and AMS (Amber Box) stand
9 for?

Ans X 1. Interest
v 2. Subsidies
& 3. Bonus
& 4. Taxes

Question ID : 9895806566

Chosen Option : 4

st Which of the following animals hibernates?
Ans 1. Tiger
v 2. Bat

& 3. Jackal
X 4 Deer

Question ID : 9895806572

Chosen Option : 3

Q.3 Rungrado May Stadium, the largest football stadium in the world, is located in which country?
1
ans X 1. China
2. Singapore

v 3. North Korea
4. Spain

Question ID : 9895806560

Chosen Option : 3

Q2'3 What is the highest peak of Pir Panjal Range?
Ans o 1 Indrasan

< 2. Kabru

# 3. Nanda Devi

& 4. Kamet

Question ID : 9895806575
Chosen Option : 2




Q.3 Who is the Padma Bhushan awardee who guided ISRO to blast its heaviest ever rocket GSLV Mark-III, paving the road
3 to manned space missions?

Ans X 1. Fali Nariman

< 2. Manohar Parrikar
v 3 K. Radhakrishnan
< 4 Nandan Nilekani

Question ID : 9895806563

Chosen Option : 1

Qf Which country is the largest producer of mangoes as of 2018?
Ans X 1. Brazil

< 2. SriLanka

v 3 India

& 4. China

Question ID : 9895806577

Chosen Option : 3

Q3 Who invaded India in 326 BC after crossing the river Indus, advancing towards Taxila?

5
Ans - X' 1. Eduardo Barbosa
< 2. Nicolini
< 3. Marco Polo
v+ Alexander

Question ID : 9895806579

Chosen Option : 4

QéS ‘Paika’ is a traditional dance form associated with which Indian state?

Ans - X 1. Uttarakhand
v 2. Tharkhand
X 3. sikkim
4. Madhya Pradesh

Question ID : 9895806556

Chosen Option : 2

Q7'3 Which of the following diseases is caused by bats?
Ans X" 1. Dengue
X 2 Zika
v 3 Ebola
4. Chikungunya

Question ID : 9895806574

Chosen Option : 3

Q.3 Which of the following options is an ancient literary source that sheds light on the ancient period of Indian history?
8

Ans 1.




X2 Bhagwat Gita
3. Upanishads

& 4. Sama Veda

Question ID : 9895806578
Chosen Option : 2

Qé3 In which country is the highest mountain peak of Africa Kilimanzaro located?
Ans X" 1. Kenya

X 2. Zambia
X 3. Ghana
v 4 Tanzania

Question ID : 9895806576
Chosen Option : 3

Qd“ Chaukhandi Stupa is a Buddhist monument located in which Indian
state?

Ans 1. Punjab

v 2. Uttar Pradesh
X 3. Sikkim
4. West Bengal

Question ID : 9895806558
Chosen Option : 4

Ql'4 ‘Jyotipunj’ is a book written by:
Ans o 1. Narendra Modi
& 2. Dhirubhai Ambani

3. V.S. Naipaul

< 4 Munshi Premchand

Question ID : 9895806562
Chosen Option : 3

Q2'4 A deficiency of Vitamin A causes:
Ans X 1. Anaemia
< 2. Goitre
3. Night blindness
X 4 Rickets

Question ID : 9895806573
Chosen Option : 3

%* Which acids are present in most grapes?

Ans 1. Hydrochloric and sulphuric acid

& 2 Nitric and sulphuric




Vs Tartaric and malic acid
& 4. Acetic acid and nitric acid

Question ID : 9895806571

Chosen Option : 3

Qf' In which of the following Indian state was the game of polo born?
Ans X 1. Assam
2. West Bengal
& 3. Arunachal Pradesh
4. Manipur

Question ID : 9895806559

Chosen Option : 3

Q5'4 The Shanti Swaroop Bhatnagar Award is given in India for contribution to the field of:
Ans X" 1. sports

< 2. social work
3. science and technology

& 4. literature

Question ID : 9895806561

Chosen Option : 1

Qé4 In which city was the East India Association formed in the year 18667
Ans - X 1. Kolkata
2. Singapore
v 3 London
< 4. Paris

Question ID : 9895806580

Chosen Option : 1

Q7'4 In which amendment of the Constitution was the voting age reduced from 21 to 18 years?

Ans 15 6th
2. 70th
3. 65th
v i gyt
Question ID : 9895806569
Chosen Option : 1
Q.4 Federalism is a system of government in which the powers is between a central authority and various

8 constituent units of the country.

Ans of 1 Divided
X2 Incited
& 3 Derided




& 4 Indicted

Question ID : 9895806567

Chosen Option : 3

Qg“ ‘Teeyan’ is a festival celebrated in which state of India?
Ans 1. Gujarat
& 2. Jammu and Kashmir

3. Rajasthan

4. Punjab

Question ID : 9895806557

Chosen Option : 1

Q(f’ What does Buffer stock mean?

Ans 1. A barrier on stock creation when surplus is available

voa reserve of commodities used to offset deficit

XS.

A focus on production of one specific variety when there is a deficit

4. A preventive measure to stop excessive distribution

Question ID : 9895806564

Chosen Option : 3

Q.5 Two trains are coming from opposite side at 40 km/hrs and 50 km/hrs from the different places 360 km apart. After how
1 many hours two trains will meet to each other?

Ans  of 1 4 hrs
< 2 6hrs
< 3 5hrs
& 4 3 hrs

Question ID : 9895806619

Chosen Option : 2

Q.5 The greatest number that will divide 146, 248 and 611 leaving remainders 2.8 and 11 respectively is:
2

ans X147
< 2 144
v 24
X 2 612
Question ID : 9895806606
Chosen Option : 3
Q.5




Study the Table Properly and answer by interpreting the data.

The table given the percentage of result by four different classes in the five different year of examination:

Year Class —IX Class—X |[Class—XI | Class —XII
(Marks are | (Marks are | (Marks are | (Marks are
in %) in %) in %) in %)

2012 90 80 85 75

2013 70 65 62 58

2014 65 35 32 33

2015 50 48 38 35

2016 55 45 32 38

In which class the average performance is least in all the five years?

Ans of 1 Class — XII

X 2. Class — XI
X 3. Class —IX
X 4 Class— X

Question ID : 9895806629

Chosen Option : 3

% The value of (6x15)+(2x%x3)—2%2+3 is:
Ans - X112

v 14

X34

X6

Question ID : 9895806607

Chosen Option : 3

Q.5 maboard examination, 75% of the total examinees passed. If the number of failures is 625, the total number of
examinees is:

Ans X 1. 3800
X 2. 2400
< 3. 3600
v 2 2500

Question ID : 9895806614

Chosen Option : 2

QéS Study the Table Properly and answer by interpreting the data.

The table given the percentage of result by four different classes in the five different year of examination:

Year |Class—IX |Class—X |Class—XI | Class—XII
(Marks are | (Marks are | (Marks are | (Marks are
in %) in %) in %) in %)

2012 | 90 80 85 75

2013 70 65 62 58

2014 | 65 35 32 33

2015 | 50 48 38 35

2016 |55 45 32 38

What is the average percentage of marks in Class-IX in the year 2012 to 2016?
Ans X1 65%
X2 2%
V'3 66%
X 1. 62%

[ Question ID : 9895806628 ]




| Chosen Option : 2 I

Q.5 A mixture contains milk and water in the ratio of 4 : 3. When 5 liters of water is added to this mixture, the ratio of milk
7 and water becomes 6 : 7. The quantity of milk in the mixture is:

Ans  of 1. 12 liters
X 2. 5 liters
< 3. 15 liters
X 410 liters

Question ID : 9895806626

Chosen Option : 3

Q5 A dining set having a sale price of 4000 is sold at a discount of 8%, thereby earning a profit of 10%. The cost price of
8 the dining set is:

Ans of 1 F3345.45
< 2. 33786.78
< 3. Z3568.80
X 4.33496.50

Question ID : 9895806613

Chosen Option : 2

Q5 An amount of T4600 has been distributed between x, y & z in the ratio of % : 2 : 3 The share of y is:

9

Ans o 11600
& 2.2000
& 3.1200
< 4.1800

Question ID : 9895806625

Chosen Option : 1

Q.6 The ratio between the speeds of two trains is 3 : 4. The second train runs 800 km in 5 hrs, and speed of first train is:

0

Ans o 1120 km/hrs
< 2. 140 kiv/hrs
< 3. 180 km/hrs
< 4160 km/hrs

Question ID : 9895806620

Chosen Option : 3

Q.6 1n a cricket team, the average age of 11 players is 22 years. When the age of team coach is included to it, the average
1 age increases by 1. The age of coach of the team is:

Ans X 1. 33 years
o 2 34 years
< 3. 43 years
< 4. 53 years

Question ID : 9895806610

Chosen Option : 3

Q2'6 Sheela buys 3 pens for 24 and sold at 2 for T18 and 1 for T45. The profit or loss percent is:




Ans X1 Loss 12.5%
< 2. Profit 12%
& 3. Loss 12%
v 4 Profit 12.5%

Question ID : 9895806612

Chosen Option : 4

Q.6 Sweta can paint a wall in 30 hours, while Ansul can paint it in 40 hours. If they paint it together and get payment of
3 ¥14,000. What is Ansul’s share?

Ans  of 1. T6000/-
< 2. T12000/-
< 3. T10000/-
< 4. Z8000/-

Question ID : 9895806617

Chosen Option : 3

Q.6 What will be the compound interest on 6000 at 3% per annum for 2 years compounded annually?

4
Ans of 1 %365.40
< 2. %653.20
< 3.3372.50
X 4 %725.10

Question ID : 9895806616

Chosen Option : 2

Q.6 The scores done by a bats man in a cricket series are 12, 25, 38, 56, 64, 86. What will be the median?
5

Ans X145
X2 56
V'3 47
X 4 38

Question ID : 9895806627

Chosen Option : 3

Qéﬁ A trader sold a machine for 18,800 and lost 6%. The cost price of the machine is:

Ans X 122000
< 2. 324000
v 3 220000
< 2 18000

Question ID : 9895806611

Chosen Option : 2

Q.6 The ratio of the area of two triangles is 2 : 3 and ratio of their height is 3 : 2. The ratio of their bases is:
7

Ans XJ_.
v 24:9
K390:4




<a42:3

Question ID : 9895806621

Chosen Option : 4

QéG Study the Table Properly and answer by interpreting the data.

The table given the percentage of result by four different classes in the five different year of examination:

Year Class—IX |[Class—X |[Class—XI | Class—XII
(Marks are | (Marks are | (Marks are | (Marks are
in %) in %) in %) in %)

2012 90 80 85 75

2013 70 65 62 58

2014 65 35 32 33

2015 50 48 38 35

2016 55 45 32 38

In Which year the average performance is maximum in all the four classes?

Ans X1 2016
X 2. 2015
X 32013
v 4 2012

Question ID : 9895806630

Chosen Option : 3

Qg,e The value of 62 — 5 of (18 — 14) — 5x7 is equal to:
Ans X118

X2 28

<315

v 77

Question ID : 9895806608

Chosen Option : 2

Q(')7 If the radius of the circle is decreased by 10%. The percentage decreased in its areas is :

Ans - X1 90%
X 2.110%
v 3 19%
X 4 91%

Question ID : 9895806623

Chosen Option : 3

Q7

Simple interest on a certain sum is % of the total sum. If rate percent and time are same, what will be the rate of
interest?

Ans X1 6.8%
X2 5%
X 3 12%
v i 8%

Question ID : 9895806615

Chosen Option : 3

Q2'7 The average of five consecutive numbers is 15. The highest of these number is:




Ans X112

Question ID : 9895806609
Chosen Option : 2

Q7 Sanjya and Saumya together can finish a work in 9 days. Sanjya can do the same job on his own in 15 days. The same
3 work Saumya can do by himself in:

Ans X 1. 14 days
1
. 15= days
2. 15 day
1
3. 223 days

4. 22 days

Question ID : 9895806618

Chosen Option : 1

Q7 The base of the parallelogram is twice of its height and its area is 288cm?. The base of the parallelogram is:

4
Ans X1 12cm
v 2 24cm
& 3. 36cm
&< 4. 28cm

Question ID : 9895806622

Chosen Option : 3

Q5',7 The mean proportional between 36 and 121 is equal to:
Ans X 1. 72

X2 85

V'3 66

X 4157

Question ID : 9895806624
Chosen Option : 3

Section : English Language

Q.1 From the given options, identify the segment in the sentence which contains the grammatical etror.
Pragati Maidan is the famous international exhibition centre at Delhi for trade fairs.
Ans - X0 1. for trade fairs
2. Pragati Maidan is
v 3. at Delhi
X 4. the famous

Question ID : 9895806181
Chosen Option : 4

Q.2




Select the synonym of the given word.

PROBABLE
Ans 1. Tangible
# 2. Substitute

3. Likely

X 4. Similar

Question ID : 9895806195

Chosen Option : 4

Q-3 From the given options, identify the segment in the sentence which contains the grammatical error.

Japan will be a country well known for its culture, technology and cuisines like sushi.

Ans 1. will be a country
& 2. well known for
& 3. cuisines like
& 4. its culture

Question ID : 9895806180

Chosen Option : 3

Q-4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

He work in a shop which makes handicraft goods.
Ans 1. works in a shop which make

2. works in a shop which makes
3. No improvement

4. working in a shop which makes

Question ID : 9895806184

Chosen Option : 4

Q.5 From the given options, identify the segment in the sentence which contains the grammatical error.

The country also needs large doses of infrastructure additions — roads or highways, power plants, distribution networks,
airports and ports.

Ans 1. airports and ports

& 2. also needs

3. roads or highways

4. The country

Question ID : 9895806182

Chosen Option : 2

?® gelect the word which means the same as the group of words given.

One that has life
ans XK 1. Mortal

v 2 Animate
& 3 Inanimate




X 4. Conscious

Question ID : 9895806200
Chosen Option : 1

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Comprehension:

Bird-watching, as it is popularly called, is a peaceful (1) CItis

not entirely without occasional physical thrills and even (2)

The elephant ridden jungles in South India, for instance. I found

myself in uncomfortably disturbing (3) . Actually. there is little

danger from a wild elephant unless it happens to be a female with a

small (4) along with her. What such situations demand is (5)
and not valour.

SubQuestion No : 7

7 Select the most appropriate option that will fill in
the blank number 1.

Ans 1. jOb
< 2. service
3. activity

X 4 work

Question ID : 9895806189
Chosen Option : 3

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Comprehension:

Bird-watching, as it is popularly called, is a peaceful (1) CItis

not entirely without occasional physical thrills and even (2)

The elephant ridden jungles in South India, for instance. I found

myself in uncomfortably disturbing (3) . Actually. there is little

danger from a wild elephant unless it happens to be a female with a

small (4) along with her. What such situations demand is (5)
and not valour.

SubQuestion No : 8

9% Select the most appropriate option that will fill in
the blank number 2.

Ans - X 1. conditions
v 2 hazards
3. pleasures

< 4. circumstances

Question ID : 9895806190
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Bird-watching, as it is popularly called, is a peaceful (1) CItis

not entirely without occasional physical thrills and even (2)

The elephant ridden jungles in South India, for instance. I found

myself in uncomfortably disturbing (3) . Actually. there is little

danger from a wild elephant unless it happens to be a female with a

small (4) along with her. What such situations demand is (5)
and not valour.

SubQuestion No : 9

99 Select the most appropriate option that will fill in
the blank number 3.
Ans X 1. zones

2. atmospheres
v 3 situations
#< 4. locations

Question ID : 9895806191
Chosen Option : 3

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Comprehension:

Bird-watching, as it is popularly called, is a peaceful (1) CItis

not entirely without occasional physical thrills and even (2)

The elephant ridden jungles in South India, for instance. I found

myself in uncomfortably disturbing (3) . Actually. there is little

danger from a wild elephant unless it happens to be a female with a

small (4) along with her. What such situations demand is (5)
and not valour.

SubQuestion No : 10

Q(')l Select the most appropriate option that will fill in
the blank number 4.

ans X 1 cub
v 2 calf
< 3. pup
< 4. Kitten

Question ID : 9895806192
Chosen Option : 3

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Bird-watching, as it is popularly called, is a peaceful (1) Ctis

not entirely without occasional physical thrills and even (2)

The elephant ridden jungles in South India, for instance. I found

myself in uncomfortably disturbing (3) . Actually. there is little

danger from a wild elephant unless it happens to be a female with a

small (4) along with her. What such situations demand is (5)
and not valour.

SubQuestion No : 11

Ql'l Select the most appropriate option that will fill in
the blank number 5.
Ans 1. loyalty

2. honesty
3. forgetfulness

W 2 discretion

Question ID : 9895806193
Chosen Option : 2

Q2'1 Select the correctly spelt word.
Ans X 1. Accessaries

v 2. Accessories

& 3. Acessories

< 4. Accesories

Question ID : 9895806202
Chosen Option : 4

Q3'1 Select the most appropriate word to fill in the blank.

Pollution of rivers and seas destroys life.
Ans - X1 Aerial
v 2. Marine
X 3. Desert
& 4. Terrestrial

Question ID : 9895806204
Chosen Option : 3

Qf Select the most appropriate option to fill in the blank.

Their wages were very low, so the workers went on a
Ans of 1 strike
X 2 leave
X 3. strife
< 4 conflict




Question ID : 9895806187
Chosen Option : 3

Qg,l Select the most appropriate ANTONYM of the given word.

COARSE

Ans of 1 Fine

< 2. Texture
3. Rough

4. Glossy

Question ID : 9895806197
Chosen Option : 3

Qg,l Select the option that means the same as the given idiom.

Run of the mill
Ans 1. Ordinary

/< 2. Rare
3. Exceptional

/< 4. Uncommon

Question ID : 9895806198
Chosen Option : 4

Q7'1 Select the most appropriate option to fill in the blank.

Ten million people watch this television every week.
Ans X 1. incident

< 2. event

« 3 programme

X 4 media

Question ID : 9895806186
Chosen Option : 3

Qél Select the synonym of the given word.

LETHARGY
Ans 1 Delight

X 2. Thrill
X 3. Wisdom
4. Fatigue

Question ID : 9895806194
Chosen Option : 2

People have used indigenous plants for of ailments since ancient times.

Qg'l Select the most appropriate word to fill in the blank.




Ans of 1 treatment
X 2. exclusion

& 3. adulteration

4. pollution

Question ID : 9895806205

Chosen Option : 1

de Select the option that means the same as the given idiom.

Man of letters
Ans X 1. A student

v 2. A scholar
< 3. One who writes letters
& 4. One who can read letters

Question ID : 9895806199

Chosen Option : 4

Ql'z Select the word which means the same as the group of words given.

Those that feed only on plants
Ans - X 1. Omnivorous
2. Predatory
3. Amphibian

v 4 Herbivorous

Question ID : 9895806201

Chosen Option : 3

Q2'2 Select the correctly spelt word.
Ans - X 1. Grejvance

X 2. Grievanse

& 3. Grievence

v 1. Grievance

Question ID : 9895806203

Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

It’s getting dark, can you switch the lights please?
Ans 1. No improvement

2. can you switch on the lights please?
3. can you switch of the lights please?

4. can you on the lights please?

Question ID : 9895806183
Chosen Option : 4




Q2 Select the antonym of the given word.

WHOLESALE
Ans X 1. Discount

v 2 Retail
& 3. Concession
X 4. Rebate

Question ID : 9895806196
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No improvement.

If he remains absent from the college, he will have to pay a fine.

Ans X 1. If he is remain absent from
2. No improvement

3. If he is remaining absent from

& 4. If he will remains absent from

Question ID : 9895806185
Chosen Option : 3

Section : Hindi Language

Ol v AT Aeg F TAIEATRN AT FT AT FI

A
Ans X' 1. 3ol
2. TR

4.@?{

Question ID : 9895805990
Chosen Option : --

R T @1 s & T UgE wee # WA H

IaF F T W@ &
Ans X1 el

R i)

X 4 FHOT

Question ID : 9895805980
Chosen Option : --

% R T e ¥ GATHATEY o T AT FYI
ToET




Ans - X1 TSTET

2. &R
X 3 FHA
& GFT

Question ID : 9895805991
Chosen Option : --

! TEY T T weg W TET
2q1§l:sﬁ'
3.‘1@

4, Tegar

]

Question ID : 9895805997
Chosen Option : --

Q5 frafafd & ¥ 5@ ReeT & T X S 9 W a1 ARAT * FEa F HY had FIT
Ans 1a§?rsg\wsmm

2. 9T W o9 AR FH ST
3.mﬁﬁzwa’lzq§“mm
4 Tt ¥ g e

Question ID : 9895805993
Chosen Option : --

°° 7@ & T weg F TTA FY
Ans “1-0 i

Question ID : 9895805996
Chosen Option : --

Comprehension:




frfaf@a ez & Rea st @ gt gz & J=
o 71T weat & rgER ST -

AR 39 Rreen, Rewswer 3R aegeer & T
freg & (1) 81 30 & a59ar a¢ W R
T=THge ATEehell HT Teh Hgd (2) g1 3=
AT & FIoT & I8 OeT & @ OE:E:]
T g1 The TR ¥ § arF $r (4) gazar
F @HT faeel wdes grat der 39rel e o
ATSTHES HT fAATT SIGME AETEl A T FH JAAS
&r (5) F FETAT |

SubQuestion No : 7
" are@ia # T R Tw (1) & Be swE
oree; g -
Ans 1 gﬁa
K 2 AT
W 3 A
X 4 FFEATA

Q

Question ID : 9895805983
Chosen Option : --
Comprehension:

frafaf@a weamr & Rea wa=t & 9fF ez & =
o a1 weat & rgER ST -

ARy 3= e, Riewswer 3R aegwer & T
e & (1) 81 310 # I7aT @€ | g
dI=THge ATEdhel T Teh Hgd (2) &1 3=
AT &% FRUT & I7 g F @ B)HAT
T gl The TR ¥ §e aret @ (4) gexar
Fr T TaeRl Tdes gidal dor 3eTel g o gl
ATSTHge & AT aeng MEsel & HIA JTH FAAS
& (5) & FGTAT |

SubQuestion No : 8
*° ez F wHtaa Rea T (2) & foT s9ged
oreg; B -
Ans - X1 el
v 2




<3 gEr
X form

Question ID : 9895805984
Chosen Option : --

Comprehension:

fafaf@a eamer & Rea wa=t #r 9fF gz & 9=
few a1v weat & sgEr ST -

ARAIY el farsepen, fRIeusher AR aregswer & faw @
frg & (1) 81 3w & 351 a¢ | fPua
dTTHge ATEdehell T Teh Hgd (2) g1 3=
fAsuTRer & ®RoT & g faeg & @ @R)HAF
T gl The TR H §o aret Hr (4) gaar
F @Y fadelr wies gral dor 3Tl gar o B
ATSTHES HT [AAIUT SC2ME AESTEl o Il FTH HAATS
&r (5) F FIETAT Tl

SubQuestion No : 9
sz # wHfAT R T (3) F v sugwa
Qe g -
MK 3sar
< 2 gaTOT
v 3 aEhet
X 4 Fegaratt

Question ID : 9895805985
Chosen Option : --

Comprehension:




feafof@a seamr & Rea wuer @ 9fd agzmer & &=
o a1 weat & argER FfST -

AT 3= Rrewen, Rewswer 3R aegeer & T @
freg & (1) 81 3P0 & I@er a W fRa
TGS ATEGHel H Th Hgd __ (2) F1 3l
fAeTeer & wRUT € I7 g & wia @R FA
T ¥ WhE WHRGR A a AT A (4) Fear
F @HT 3Rl Tiew grat Jeor 3eTelr gar o gl
ATSTHEe HT fAATT SIGME AETEl T FH FAAS
(5 H FLEmEw U
SubQuestion No : 10
% aregier # wHfaE Rew T (4) F B swE
ASS BN -
Ans 1-3-]13—7@'UT
2.3'@:‘1?
3 TR
PR = 3

Question ID : 9895805986
Chosen Option : --
Comprehension:

frafaf@a eamr & Rea wa=t @ 9fd gz & =
T 71T weat & AR AT -

AR 3= Rrveen, Rieuswer 3R aegewer & T
freg & (1) 81 3R # 97T @€ | g
TsTHge aEgehell H TH 3Hgd (2 g1 39
fAsuTRer & ®RoT & 98 g & @ B AX
T g ThE WEAGR A A AT B (4) FeIar
@R faeeft wies arat dor 3eTelr v o 2
ATSTHgS & AT aeeng gsel & A9 FWH FAAS
F (5 H FEmET |

SubQuestion No : 11
% e # wHfaa Rea T (5) # R swged
oree, BIem -

Ans X 1 JHTE




X2 g
5 el

X 4 3T

Question ID : 9895805987
Chosen Option : --
1 3 A
% v a1w arFw &7 37 9w Aa W o w15 3 B

TSATHF S HTH T T 187 33 Ak T T =S 2
2 STl gt
3.Wm§|
4 TIHET TATT Hr T 3SR

Question ID : 9895805974
Chosen Option : --

Qélﬁﬁmﬁmimsﬂwamwmﬁl

3@ I Ar gfed gaar o
Ans 1_#

> sk

Question ID : 9895805978
Chosen Option : --

% R M Ty ¥ BT uE e AT

S somsr 7 & TF
Ans of 1 FTET
< 2. AT

3. qEATET

4. hdT
2

Question ID : 9895805995
Chosen Option : --

Qélﬁcmmwagmmﬁ%uﬁaﬁégﬁ'%l
HI-HEIAT 39T A@ee 34T 9fesar & Fror ST 2 2l
Ans Jl.w_m
X 2 AR B g




3. 39T WIS
4 3 9fe=ar & &ror

Question ID : 9895805973
Chosen Option : --

Qélﬁumammagmmaﬁmﬁﬁégﬁ%l

ofe afedr @@l a=ng 7% A e Hfaca & warea g st
A1 g AfEae &

2 TG F=S TR A

s ofyr afeat

4 HATST gl AT

Question ID : 9895805972
Chosen Option : --

Ul Grafafea & & 0 Rees 7 T Y A s o ‘TR # 3 wEd w §
Ans

v i r.ﬂ{;r?gmr
2. 9F ST

3. 9y ST
4. GrST HLAT

Question ID : 9895805992
Chosen Option : --

U R oo aerr  wifa @ # SRERE we ¥ T sREd eeT #1 9w w1
A el ham 3w B o g dn
Ans X 1. FETERTET
- =
3. G&dh
X 4. Gussed

Question ID : 9895805977
Chosen Option : --

S R T arEy ¥ BT wF e AR

ST 3URR F A
Ans Lm

[ Question ID : 9895805994 ]




| Chosen Option : -- I

deﬁvmalaa:rﬁmﬂgﬁl

EIEIE]

Ans “ . i'

Question ID : 9895805988
Chosen Option : --

Qizﬁvmmﬁmdgﬁmﬁama;mmﬁmmmﬁl

Ry & B w1 M =ams, | 38 997 e

Ans 1 a.a,

Question ID : 9895805976
Chosen Option : --

Y foa Tm # e F R s9gEe o #7199 H
TASH TSH TH gl

Ans 1ﬂ.QaT
X 2. &
X 3 @A

S

Question ID : 9895805981
Chosen Option : --
2 s
< ReFa e &t s F v s9gsa aeg & 997 =

9T & TI=0 T4 & foT g7 amies & Fr 3ERTEaT
Ans L FHRHRY

Question ID : 9895805979
Chosen Option : --

e




! Ry e ez F e @

Ans 1. 9ol

Question ID : 9895805989
Chosen Option : --

—
Qézmmmﬁmﬁmmﬁmﬁamﬁmmmmmﬁl

St & FhET TN AT WU THE Y A F
el L g # Fee B
2 GHT T FAST g
3 AT F FAST gl
4 FAET F A9 g

Question ID : 9895805975
Chosen Option : --




